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1. (1) L (1) =
1

s
, L (sin ωt) =

ω

s2 + ω2
より L (1 ∗ sin ωt) =

ω

s(s2 + ω2)

(2) L (t) =
1

s2
, L (et) =

1

s − 1
より L (t ∗ et) =

1

s2(s − 1)

2. (1)
1

s2(s − 1)
=

1

s2
× 1

s − 1
, L −1

(
1

s2

)
= t, L −1

(
1

s − 1

)
= et より

L −1

(
1

s2(s − 1)

)
= t ∗ et =

∫ t

0
τ et−τ dτ = et

{
[−τe−τ ]t0 +

∫ t

0
e−τ dτ

}

= et(−te−t + [−e−τ ]t0) = −t − 1 + et

(2)
s2

(s2 + ω2)2
=

s

s2 + ω2
× s

s2 + ω2
, L −1

(
s

s2 + ω2

)
= cos ωt

L −1

(
s2

(s2 + ω2)2

)
= cos ωt ∗ cos ωt =

∫ t

0
cos ωτ × cos ω(t − τ)dτ

= cos ωt
∫ t

0
cos2 ωτ dτ + sin ωt

∫ t

0
cos ωτ sin ωτ dτ

= cos ωt
∫ t

0

1

2
(cos 2ωτ + 1) dτ + sin ωt

∫ t

0

1

2
sin 2ωτ dτ

=
1

2
cos ωt

[
1

2ω
sin 2ωτ + τ

]t

0
+

1

2
sin ωt

[
− 1

2ω
cos 2ωτ

]t

0

=
1

2
cos ωt

(
1

2ω
sin 2ωt + t

)
+

1

2
sin ωt

(
1

2ω
− 1

2ω
cos 2ωt

)

=
1

4ω
{2ωt cos ωt + cos ωt sin 2ωt − sin ωt cos 2ωt + sin ωt}

=
1

4ω
{2ωt cos ωt + 2 sin ωt}

1



3. L (y(t)) = Y (s) とする。

Y (s) = L (1) − L (t ∗ y(t)) =
1

s
− L (t) Y =

1

s
− 1

s2
Y (s)

(
1 +

1

s2

)
Y (s) =

s2 + 1

s2
Y (s) =

1

s

Y (s) =
s

s2 + 1
より

y(t) = L −1(Y (s)) = cos t.

4 (1) 部分積分により∫ 1

0
xex dx = [xex]10 −

∫ 1

0
ex dx = e − [ex]10 = 1.

(2) z = 2x − 3とするとき、x = (z + 3)/2より置換積分から

∫ 2

1
(2x − 3)4 dx =

∫ 1

−1
z4dx

dz
dz =

1

2

[
z5

5

]1

−1

=
1

5
.

(3)
1

2x2 − 5x + 2
=

1

(2x − 1)(x − 2)
=

1

3

(
1

x − 2
− 2

2x − 1

)
より

∫ 0

−1

1

2x2 − 5x + 2
dx =

1

3

∫ 0

−1

(
1

x − 2
− 2

2x − 1

)
dx =

1

3

[
log

∣∣∣∣ x − 2

2x − 1

∣∣∣∣]0

−1
=

1

3
log 2.

予備問題：
1. (1) y(t) = 2et − t − 1, (2) y(t) = e2t
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